September 08, 2013

2) Here are two lines represented by the vector equations, L and Lo.
Li(t)=(1+1¢8+3t) Ly(s) = (3—5,7—2s)

A) Determine if these lines are parallel, perpendicular, or neither.
B) If the lines are not parallel, then find the angle 8, where 0 < 6 < £
that is made at the intersection of the two lines.
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The graph of the lines looks something similar to

the picture on the left. The dot product formula used
above will give the angle theta where theta is from 0 to
pi(180 degrees). The problem is asking for the angle
between the lines to be between 0 and pi/2 (90 degrees).
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